
[2025– – (1 )]

1

(1) x2
+ 2xy + y2 + 5x+ 5y + 4 ,

(x+ y + )(x+ y + )

( <
= )

(2) U = {n |n 10 } ,

A = {1, 3, 5, 7}, B = {n |n 6 } ,

(A ∪ B) ∩ A =

1○ ∅ 2○ {1, 3} 3○ {2, 6} 4○ {1, 2, 3, 6}

5○ {1, 2, 3, 4, 6, 8, 9, 10} 6○ U

(3) tan θ =
2

3
(0◦ < θ < 90◦) ,

6

(1+ sin θ)(1− sin θ)
=

(4) 3, 3, 3, 7 .

3, 3, 3, 3, 7 .

(5) (ax− 2)6 (a ) x4 60

, a = ±

(6) ℓ : x− y + a = 0 (a ) , ℓ

ℓ (−1, 1) , a =

(7) 0 <
= θ < 2π θ ,

√
3

3
sin θ− cos θ =

√

sin



θ−
π





(8) 0.4100 , 0

, log
10
2 = 0.301

(9) f(x) a

∫

a

x

f(t)dt = 9x2 − 6x− 3

, f(x) = − x+ ,

a = − ,

(10) a1 =
1

2
, an+1 = an + n (n >

= 1) {an}

an =
2

n2 − n+
1
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[2025– – (1 )]

2

(1) 3 A(−3, 1), B(1, 1), C(3, 7)

2

A,B , x =

, 2 y = a
(

x+

)2

− b

(a, b ) B,C a = , b =

2

y =

(

x+

)2

−

(2) 1 10

( )

1 500 x

2 100 0.05

3 10 0.1

0 –

[ ] 1 x 0.02 ,

[ ] 1 x ,

x + , 10

x x <
= 0.

— 2 —



[2025– – (1 )]

3

(1) ABCD , AB=3, DA=5
−→
a =

−→
AB,

−→
b =

−→
AD ,

−→
AC = ,

−→
BD =

,

1○
−→
a +

−→
b 2○

−→
a −

−→
b 3○

−→
b −

−→
a

4○ −
−→
a −

−→
b 5○ 3

−→
a + 5

−→
b 6○ 5

−→
b − 3

−→
a

, AD M ,
−→
BM =

−→
b −

−→
a

, 6–BAD = θ ,

−→
BM

−→
AC = − cos θ

,
−→
BM ⊥ −→

AC , cos θ =

(2) , h, r

(h > 0, r > 0) 15 ,

V = ( )− ( ) ,

h = − r ,

V = πr2
(

− r

)

V r , V

V ′
= πr

(

− r
)

, r > 0, h > 0 < r < ,

V ′
= 0 r =

, V r =

3
π

— 3 —



[2025– – (2 )]

1

(1) a =
7
√
3 − 2

5−
√
3

a 3

1○ > 2○ < 3○ =

(2) a, b ,

ab

1○

2○

3○

4○

(3) ABC 6
–A : 6

–B : 6
–C = 2 : 1 : 3 ,

BC : CA =

√

:

(4) 3, 5, 1, 6, 3, x 6 ,

, x

(5) 2 3x2 − 12x+ k = 0 1 2

, k

(6) (x + 4)2 + (y − 2
√
5)2 = 4 x2

+ y2 = r2

, r =

(7) 0 <
= θ <

= π θ cos 2θ =
1

3
,

cos4 θ− sin4 θ =

(8) 3x − 4(
√
3)x + 3 < 0 < x <

(9)

I =

∫

−2

−3

(x2 − 2x+ 3)dx−

∫

−2

1

(x2 − 2x+ 3)dx

+

∫

3

1

(x2 − 2x+ 3)dx

I =

(10) I =

5
∑

k=1

(

k2

5
− 2

)

I =

— 1 —
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[2025– – (2 )]

2

(1) x, y x2
+ 2y2 − 2xy + 2x+ 2y + 2 = 0

, y

x 2

x2
+ (1− y)x+ (2y2 + 2y + 2) = 0

, 0 ,

y2 + y + <
= 0

y

− −

√

<
= y <

= − +

√

y , − ,

x x = − ±
√

(2) , A B

A

C

B

[ ] A B

[ ] A C , B

[ ] C (

) , A C ,

B

— 2 —



[2025– – (2 )]

3

(1) O,A,B |−→OA| = 1, |−→OB| = 2
√
3,

−→
OA

−→
OB = 2

, C , |−→OC| = 2
√
2,

−→
OA //

−→
BC

[ ] cos 6–AOB =
1

√

[ ]
−→
OA //

−→
BC ,

−→
BC = k

−→
OA k

−→
OC =

−→
OB+

−→
BC =

−→
OB+ k

−→
OA ,

|−→OC|2 = |−→OB+k
−→
OA|2 k k2

+ k+ = 0

k = − ,
−→
OC =

−→
OB−

−→
OA

[ ]
−→
OB

−→
OC = , cos 6–BOC =

√

(2) f(x) x3 2 3 , y = f(x)

x = −
1

2
, 1, 2 x

[ ] f(x)

f(x) =



x+



 (x− 1)
(

x−
)

,

f(x) = 2x3 − x2
+ x+

[ ] f(x) f ′(x) = x2− x+

, f ′(x) = 0

x =

±
√

x = α, β (α < β) ,

f(x) x = α , x = β

,

1○ 2○ 3○ 4○

— 3 —



[2025– – ]

1 ,

, ,

(1) I =
1√

6 − 2
−

1√
6 + 3

(2) U = {x | x 10 } , 2

A = {1, 2, 5, 7}, B = {3, 4, 6, 7} , A ∪ B

(3) sin2 θ + 4 cos2 θ = 4 cos θ (0◦ <
= θ <

= 90◦) , sin θ

(4) 1 Q1, 3 Q3 ,

Q1 − 1.5× (Q3 − Q1) , Q3 + 1.5× (Q3 − Q1)

,

,

3, 5, 0, 3, 2, 5, 3, 9, 4

(5) P (x) x− 2 3 , x+ 1

, P (x) (x− 2)(x + 1) R(x)

(6) A(−3, 1), ℓ1 : x+ 3y − 1 = 0 , ℓ1

A ℓ2 , ℓ1 A

ℓ3

(7) π <
= θ <

= 2π , tan
(

θ +
π

4

)

< −1

(8) I =

(

log
3
4
)2

· log
4
9 ·

(

log
4

1

3

)

(9) y = f(x) (4,−7) ,

(x, y) −3x + 2 , f(x)

(10) {an} n Sn = 3n2 ,

an

— 1 —
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[2025– – ]

2 ,

, ,

(1) 2 y = x2
+ 2x+ k 0 <

= x <
= 3 3 ,

k

(2) 1 9 9

3 ,

[ ] 1, 2, 3 p

[ ] 3 q

[ ] 3 r

— 2 —



[2025– – ]

3 ,

, ,

(1) 2
−→
a = (2,−3),

−→
b , ℓ : y = x + 5

,
−→
b ⊥ ℓ ,

[ ] |−→a |

[ ] |−→b | = 2|−→a | ,
−→
b

(2) y = −x2
+ 2 (1, 5) 2

ℓ1, ℓ2 , ℓ1 ℓ2

,

[ ] ℓ1, ℓ2

[ ] ℓ1 P, ℓ2 Q , 2 P,Q

ℓ3

— 3 —



[2025– – ]

1 ,

, ,

(1) 2 y = x2
+ ax− 2 (a, 3a) ,

a

(2) 16.4 , n

18, 24, n, 10, 12

(3)
a(x− 2)

(x+ 1)(x− b)
=

3

x+ 1
+

1

x− b
x

, a, b

(4) 3 A(a), B(2), C(c) , AB 2:5

P(−3), AC 2:3 Q(1)

, a c

(5) 0 <
= θ < π , 2 sin 2θ < −

√
3 θ

(6)

(

1√
2

)

x−1

>

(

1

4

)

x

(7) 3 2, a, 8 , 3 b, a + 1,

12 , a, b

(8) 2
−→
a = (3,−1, 1),

−→
b = (2, 5, 0) k

−→
x = k

−→
a −

−→
b ,

−→
a ⊥ −→

x k

— 1 —
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[2025– – ]

2 ,

, ,

(1) 52 , , 1 13

, A,B,C,D ,

A , 1

13 13 , B, C, D 1

13 13 1

,

[ ] A p1

[ ] , A

1 B,C,D 2, 3,

4 , 1 p2

(2) 3 f(x) x = −2, 1 , y = f(x)

2 (1,0), (0,1) , f(x)

— 2 —



1

(1) x2 + 2xy + y2 + 5x+ 5y + 4 = (x+ y)2 + 5(x+ y)+ 4 = (x+ y + 1 )(x+ y + 4 )

(2) B = {1, 2, 3, 6} , (A ∪B) ∩A = ({2, 4, 6, 8, 9, 10} ∪ {1, 2, 3, 6}) ∩A

= {1, 2, 3, 4, 6, 8, 9, 10} ∩ {1, 3, 5, 7} = {1, 3}

(3)
6

(1+ sin θ)(1− sin θ)
=

6

1− sin2 θ
=

6

cos2 θ
= 6(1+ tan2 θ) = 6

(

1+
4

9

)

= 6× 13

9
=

26

3

(4) 3,3,3,7
3× 3+ 7

4
=

16

4
= 4,

1× 3+ 9

4
=

12

4
= 3 . 00

3,3,3,3,7
3× 4+ 7

5
=

19

5
= 3.8,

0.82 × 4+ 3.22

5

=
2.56+ 10.24

5
=

12.8

5
= 2 . 56

(5) (ax−2)6 x4 6C4(ax)
4(−2)2 , 6C44a

4
=

6 · 5
2 · 1 4a4 = 60a4,

a4 = 1 , a a2 = 1, a = ± 1

(6)
|a|√
1+ 1

=
|− 1− 1+ a|√

1+ 1
, |a| = |a− 2|

−a = a− 2 , a = 1

(7)

√
3

3
sin θ − cos θ =

1√
3
sin θ − cos θ =

2√
3

(

1

2
sin θ −

√
3

2
cos θ

)

=
2
√
3

3

(

sin θ cos
π

3
− cos θ sin

π

3

)

=

2
√

3

3
sin

(

θ −
π

3

)

(8) log
10
0.4100 = 100 log

10
0.4 = 100 log

10

22

10
= 100

(

2 log
10
2− 1

)

= 100× (0.602−1)

= −39.8, 10−40 < 0.4100 < 10−39 , 0.4100 40 0

(9)

∫

x

a

f(t)dt = −9x2 + 6x+ 3 , f(x) = (−9x2 + 6x+ 3)′ = − 18 x+ 6 ,

∫

x

a

(−18t+ 6)dt =
[

−9t2 + 6t
]x

a
= −9x2 + 6x+ 9a2 − 6a a 9a2 − 6a = 3

3a2 − 2a− 1 = 0, (3a+ 1)(a− 1) = 0 a = −

1

3
, 1

— 1 —

2025年度一般選抜A日程　1日目　正答例 
数学 (10) {an} {bn} bn = an+1 − an = n , n >

= 2

an = a1 +

n−1
∑

k=1

bk =
1

2
+

n−1
∑

k=1

k =
n(n− 1)

2
+

1

2
=

n2

2
−

n

2
+

1

2
n = 1

, an =
1

2
n2

−

1

2
n+

1

2

2

(1) A(−3, 1), B(1,1) , (−1, 1) , x = −1

2 y = a(x+ 1 )2 − b B,C 1 = 4a− b, 7 = 16a− b

, a =
1

2
, b = 1

(2) [ ] x = 0.02 500× 0.02+ 100× 0.05+ 10× 0.1+ 0

= 10+ 5+ 1 = 16

[ ] 1 x 500 x+ 6 , 500x+ 6 <
= 10

500x <
= 4 x <

=

4

500
= 0. 008

3

(1)
−→
AC =

−→
a +

−→
b ,

−→
BD =

−→
AD−

−→
AB =

−→
b −

−→
a ,

−→
BM =

−→
AM−

−→
AB =

1

2

−→
b −

−→
a

,
−→
BM

−→
AC =

(

1

2

−→
b −

−→
a

)

(
−→
a +

−→
b ) = −|−→a |2 + 1

2
|−→b |2 − 1

2

−→
a

−→
b

=
25

2
− 9−

1

2
|−→a ||−→b | cos θ =

7

2
−

15

2
cos θ

−→
BM ⊥ −→

AC ,
−→
BM

−→
AC =

7

2
−

15

2
cos θ = 0 cos θ =

7

15

(2) h + 2r = 15 h = 15 − 2 r, V = πr2h−

1

3
πr2h =

2

3
πr2(15− 2r)

V ′
=

2

3
π(15r2− 2r3)′ =

2

3
π(30r− 6r2) = 4 πr( 5 − r) ,

r > 0, h = 15− 2r > 0 0 < r <
15

2
, V ′

= 0 r

r = 5 , V

r 0 · · · 5 · · · 15

2
V ′

+ 0 −

V ր ց

— 2 —



V r = 5 V =
2

3
π × 25× 5 =

250

3
π

— 3 —



1

(1) a =
(7
√
3 − 2)(5+

√
3)

(5−
√
3)(5+

√
3)

=
11+ 33

√
3

22
=

1+ 3
√
3

2
,

a− 3 =
3
√
3 − 5

2
=

√
27−

√
25

2
> 0, >

(2) a, b , ab ( : a = b =
√
2)

ab , a, b ( : a = 1, b =
√
2)

(3) 6
–
B = θ 6

–
A = 2θ, 6

–
C = 3θ , 6

–
A + 6

–
B + 6

–
C = 6θ = 180◦,

θ = 6
–
B = 30◦, 6

–
A = 60◦, 6

–
C = 90◦ BC : CA =

√

3 : 1

(4) x >
= 5 4 ,

18+ x

6
< 4 x < 6, x = 5

x <
= 3 3 ,

18+ x

6
< 3 x < 0

x = 4 3.5 ,
18+ x

6
< 3.5 x < 3

x = 5

(5) 2 α, α+ 2 , 2α+ 2 = 4, α(α+ 2) =
k

3
α = 1, k = 3α(α+ 2) = 9

(6) (−4, 2
√
5)

√

(2
√
5)2 + 42 =

√
20+ 16 = 6 ,

r = 6− 2 = 4

(7) cos4 θ − sin4 θ = (cos2 θ − sin2 θ)(cos2 θ + sin2 θ) = cos2 θ − sin2 θ = cos 2θ =
1

3

(8) 3x − 4 · 3
x

2
+ 3 < 0 , 3

x

2
= t t2 − 4t+ 3 < 0,

(t− 1)(t− 3) < 0, 1 < t < 3 0 <
x

2
< 1 0 < x < 2

(9) f(x) = x2−2x+3 I =

∫

−2

−3

f(x)dx+

∫

1

−2

f(x)dx+

∫

3

1

f(x)dx =

∫

3

−3

f(x)dx

, I = 2

∫

3

0

(x2 + 3)dx = 2

[

x3

3
+ 3x

]3

0

= 2(9+ 9− 0) = 36

(10) I =
1

5

5
∑

k=1

k2 −

5
∑

k=1

2 =
1

5
× 5× 6× 11

6
− 10 = 11− 10 = 1

— 1 —

2025 A 2

2

(1) x x2 + 2 (1− y)x+ (2y2 + 2y + 2) = 0 ,

D
D

4
= (1− y)2 − (2y2 + 2y + 2) = −y2 − 4y − 1 >

= 0,

y2 + 4 y+ 1 <
= 0 y2 + 4y+ 1 = 0 y = −2±

√
4− 1 = −2±

√
3

, y2 + 4y + 1 <
= 0 − 2 −

√

3 <
= y <

= −2+
√
3

y , y = − 1 ,

x2 + 4x+ 2 = 0 , x = −2±
√
4− 2 = − 2 ±

√

2

(2) A(0,0), B(5,4)

[ ] 1 9 , 5 , 4

, 9C4 =
9 · 8 · 7 · 6
4 · 3 · 2 · 1 = 9 · 7 · 2 = 126

[ ] A C 6C3 =
6 · 5 · 4
3 · 2 · 1 = 20 , C B

3C1 = 3 , 20× 3 = 60

[ ] C(3,3) , D(2,3) E(4,3) , F(3,2) G(3,4)

2

, A D 5C3 = 10 , E B 2

10× 2 = 20

, A F 5C2 = 10 , G B 1

, 10 30

3

(1) [ ] cos 6
–
AOB =

−→
OA

−→
OB

|−→OA||−→OB|
=

2

2
√
3
=

1
√

3

[ ] |−→OB+k
−→
OA|2 = |−→OB|2+2k

−→
OB

−→
OA+k2|−→OA|2 = 12+4k+k2 |−→OC|2 = 8

k2 + 4 k + 4 = 0, (k + 2)2 = 0 k = − 2 ,
−→
OC =

−→
OB− 2

−→
OA

[ ]
−→
OB

−→
OC =

−→
OB (

−→
OB− 2

−→
OA) = |−→OB|2 − 2

−→
OB

−→
OA = 12− 4 = 8 ,

cos 6
–
BOC =

−→
OB

−→
OC

|−→OB||−→OC|
=

8

2
√
3 · 2

√
2
=

2√
6
=

√

6

3

(2) [ ] f(x) = 2

(

x+
1

2

)

(x − 1)(x − 2 ) ,

f(x) = (2x+1)(x2−3x+2) = 2x3−6x2+4x+x2−3x+2 = 2x3− 5 x2+x+ 2

— 2 —



[ ] f ′(x) = 6 x2 − 10 x+ 1 , f ′(x) = 0 x =
5±

√
25− 6

6

=

5 ±
√

19

6
α =

5−
√
19

6
, β =

5+
√
19

6
,

f ′(x) = 6(x− α)(x− β) f(x)

x · · · α · · · β · · ·
y + 0 − 0 +

y ր ց ր

, x = α , x = β

— 3 —



1

(1) I =
5
√
6

6
(6) ℓ2 : y = −

x

3
, ℓ3 : y = 3x+ 10

(2) A ∪B = {3, 4, 6} (7)
5π

4
< θ <

3π

2

(3) sin θ = 0,
2
√
2

3
(8) I = −2

(4) 9 (9) f(x) = −

3

2
x2 + 2x+ 9

(5) R(x) = x+ 1 (10) an = 6n− 3

(1) I =

√
6+ 3− (

√
6− 2)

(
√
6− 2)(

√
6+ 3)

=
5

6+ 3
√
6− 2

√
6− 6

=
5√
6
=

5
√
6

6

(2) A ∪B = A ∩B = {3, 4, 6, 8, 9, 10} ∩ {3, 4, 6, 7} = {3, 4, 6}

(3) 1− cos2 θ + 4 cos2 θ − 4 cos θ = 3 cos2 θ − 4 cos θ + 1 = (cos θ − 1)(3 cos θ − 1) = 0

, cos θ = 1,
1

3
0◦ <= θ <

= 90◦ sin θ >
= 0

sin θ =

√

1− cos2 θ = 0,

√

8

9
= 0,

2
√
2

3

(4) , 0, 2, 3, 3, 3, 4, 5, 5, 9 , 3, Q1 = 2.5, Q3 = 5

Q1 − 1.5 × (Q3 − Q1) = 2.5 − 1.5 × 2.5 = 2.5 − 3.75 = −1.25,

Q3 + 1.5× (Q3 −Q1) = 5+ 3.75 = 8.75 9

(5) P (x) (x− 2)(x+ 1) Q(x), R(x) = ax+ b ,

P (x) = Q(x)(x− 2)(x+ 1)+ ax+ b P (2) = 3, P (−1) = 0

, P (2) = 2a + b = 3, P (−1) = −a + b = 0 a = b = 1,

R(x) = x+ 1

(6) ℓ1 y = −

x

3
+

1

3
, ℓ2 −

1

3
, ℓ3 3

ℓ2 y = −

1

3
(x+ 3)+ 1 = −

x

3
− 1+ 1 y = −

x

3
,

ℓ3 y = 3(x+ 3)+ 1 = 3x+ 9+ 1 y = 3x+ 10

(7) α = θ +
π

4
,
5π

4
<
= α <

=

9π

4
, tanα < −1 α

3π

2
< α <

7π

4
,

5π

4
< θ <

3π

2

— 1 —

(8) I =

(

log
3
4
)2

·
log

3
9

log
3
4
·
log

3

1

3

log
3
4

= log
3
9 · log

3

1

3
= −2

(9) f ′(x) = −3x+ 2, f(4) = −7 , f(x) =

∫

(−3x+ 2)dx

= −

3

2
x2+ 2x+C , f(4) = −

3

2
· 16+ 8+C = −24+ 8+C = C− 16 = −7

C = 9, f(x) = −

3

2
x2 + 2x+ 9

(10) n >
= 2 an = Sn−Sn−1 = 3n2

−3(n−1)2 = 3n2
−3(n2

−2n+1) = 6n−3

n = 1 a1 = S1 = 3 , an = 6n− 3

2

(1) y = (x+ 1)2 + k − 1 x = −1 , 0 <
= x <

= 3 x = 3

y = 42 + k − 1 = 15+ k = 3 k = −12

(2) [ ] p =
3C3

9C3

=
3 · 2 · 1
9 · 8 · 7 =

1

3 · 4 · 7 =
1

84

[ ] 2,3,5,7 4 , q =
4C3

9C3

=
4

84
=

1

21

[ ] 3 , 1,3,5,7,9 5 ,

r = 1−
5C3

9C3

= 1−
10

84
= 1−

5

42
=

37

42

3

(1) [ ] |−→a | =
√
4+ 9 =

√
13

[ ]
−→
b −1

−→
b = (k,−k) |−→b |2 = 2k2 = 4|−→a |2 = 52

, k = ±
√
26

−→
b = (

√
26,−

√
26), (−

√
26,

√
26)

(2) [ ] (a,−a2 + 2) , (−x2 + 2)′ = −2x ,

y = −2a(x− a)− a2 + 2 = −2ax+ a2 + 2 (1, 5) ,

5 = −2a+ a2 + 2 a2 − 2a− 3 = 0, (a+ 1)(a− 3) = 0, a = −1, 3

, ℓ1 y = 2x+ 3, ℓ2 y = −6x+ 11

[ ] P a = −1 (−1, 1), Q a = 3 (3,−7) , ℓ3
−7− 1

3+ 1
= −2, y = −2(x+ 1)+ 1 y = −2x− 1
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1

(1) a = −

1

2
, 2 (5)

2π

3
< θ <

5π

6

(2) n = 18, = 18 (6) x > −

1

3

(3) a = 4, b = 3 (7) a = 5, b = 3

(4) a = −1, c = 4 (8) k =
1

11

(1) 3a = a2 + a2 − 2, 2a2 − 3a− 2 = 0, (2a+ 1)(a− 2) = 0 a = −

1

2
, 2

(2)
18+ 24+ n+ 10+ 12

5
=

n+ 64

5
= 16.4 n+ 64 = 82,

n = 18 , 10,12,18,18,24 = 18

(3) a(x− 2) = 3(x− b)+ x+ 1, ax− 2a = 4x− 3b+ 1 ,

a = 4, −2a = −3b+ 1, a = 4, b = 3

(4)
5a− 2 · 2
−2+ 5

=
5a− 4

3
= −3 5a− 4 = −9, 5a = −5, a = −1

3(−1)+ 2c

2+ 3
= 1 −3+ 2c = 5, 2c = 8, c = 4

(5) 0 <
= 2θ < 2π sin 2θ < −

√
3

2

4π

3
< 2θ <

5π

3
,

2π

3
< θ <

5π

6

(6) 2
−

x−1

2 > 2−2x
−

x− 1

2
> −2x, x− 1 < 4x, 3x > −1 x > −

1

3

(7) a =
2+ 8

2
= 5, 12b = (a+ 1)2 = 36 b = 3

(8)
−→
a

−→
x = k|−→a |2 −−→

a
−→
b = (9+ 1+ 1)k − (6− 5+ 0) = 0 k =

1

11

2

(1) [ ] 2,4,6,8,10,12 6 , p1 =
6

52
=

3

26

[ ] A B , 1 1,3,5,7,9,11,13 7

C , 1 1,4,7,10,13 5 D , 1

1,5,9,13 4 p2 =
0+ 7+ 5+ 4

52
=

16

52
=

4

13
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(2) f ′(x) x = −2, 1 0 f ′(x) = a(x + 2)(x − 1) ,

f(x) =

∫

a(x2 + x− 2)dx = a

(

x3

3
+

x2

2
− 2x

)

+ b f(1) = 0, f(0) = 1

, f(0) = b = 1, f(1) = a

(

1

3
+

1

2
− 2

)

+ 1 = −

7

6
a+ 1 = 0, a =

6

7
,

f(x) =
6

7

(

x3

3
+

x2

2
− 2x

)

+ 1 =
2

7
x3 +

3

7
x2 −

12

7
x+ 1
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